
 
 
 
 
 
 
 

AW JR Window  
 

Thick Wall Kit Installation Manual 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

E. F. Bavis & Associates, Inc. 
201 Grandin Road 

Maineville, Ohio 45039 
(513) 677-0500 

 
 
 
Copyright 2012 E. F. Bavis & Associates, Inc. Revised 05/14/2012 
All Rights Reserved                                                                                                                                                         P/N 00720011 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 1

Tall Cabinet Thick Wall Kit Installation Accessories 
P/N 12036021 

Part # Description Qty. 
00143056 3/16 Drill Bit 1 
01008508 Self Drilling Drywall Anchor 12 
01081011 1/8 Drill Bit 1 
12002152 Shelf Support Clips 8 
12004092 AW 19” Backsplash 4 
12004111 Long Spline 2 
12011043 Clear Silicone Sealant 1 

Per Kit WG Short Window Base Left End Assembly 1 
Per Kit WG Short Window Base Right End Assembly 1 
Per Kit WG Short Toe Kick Side 2 

12129011 WG Side Cabinet Leg Block 2 (4) 
12134011 Thick Wall Kit Cabinet Leg 2 (4) 
93009005 10-32 x ½” Hex Slot MS Zinc Washer Head 8 (16) 
93005007 #8-32 Acorn Nut 12 
93009005 #8-10 Black Plastic Screw Cover 12 
93062721 8-32x3/8 Phil Truss  12 
93080221 #8x1/2 Phil Pan SMS Zinc 12 
93241623 #8x1-1/2 Phil Pan TS  12 

 
Note: The components of this kit are to be installed prior to installing the base assembly. 

 
Installation Procedure 

 
(Refer to the installation diagram on page 2) 

 
1. Mount the cabinet leg and block to the bottom of the outside corner of the side cabinet 

using the 10-32 x ½” bolts provided.  (For Thick Wall Kit PN’s 12036026 & 12036031, 
mount (2) of the cabinet leg and block assemblies to each side cabinet.) 

 
2. Remove the toe kick from the base assembly and replace the ends. 

 
3. Remove the base end assemblies and replace with the ends provided, then move the 

leveler legs from the old ends to the new ends. 
 
4. Slide the toe kick back into the base assembly. 

 
5. Install the converted base assembly as per the instructions sent with the window, using 

longer 19” back splash to trim from the window frame out to the edge of the wall. 
 
6. Adjust the leg on the outer corner of the side cabinet to support the cabinet. 

 
If you have any questions or problems, please consult the factory at 1-800-937-3322. 



 2

 

A
D

JU
S

T
A

B
LE

 T
O

E
 K

IC
K

 S
T

R
IP

L
E

V
E

L
E

R
 L

E
G

B
A

C
K

 S
P

LA
S

H

B
A

S
E

W
IN

D
O

W

S
P

LI
N

E

S
ID

E
 C

A
B

IN
E

T

12
-5

/8
" 

B
A

C
K

 S
P

LA
S

H
E

S

R
E

P
L

A
C

E
 B

A
S

E
 E

N
D

S

R
E

P
LA

C
E

 T
O

E
 K

IC
K

 E
N

D
S

U
S

E
 1

9"
 B

A
C

K
 S

P
LA

S
H

S
ID

E
 C

A
B

IN
E

T
B

L
O

C
K

 &
 L

E
G

 



 3

O
P

T
IO

N
 1

O
P

T
IO

N
 2

10
33

4

12
5

8

84

22
1

2

6"
(A

LL
 C

O
N

D
U

IT
S

 A
N

D
O

T
H

E
R

 D
E

V
IC

E
S

 M
U

S
T

 F
IT

IN
S

ID
E

 O
F

 T
H

IS
 A

R
E

A
)

6"
(A

L
L 

C
O

N
D

U
IT

S
 A

N
D

O
T

H
E

R
 D

E
V

IC
E

S
 M

U
S

T
 F

IT
IN

S
ID

E
 O

F
 T

H
IS

 A
R

E
A

)

19

S
T

A
N

D
A

R
D

 1
4

" 
W

A
LL

 
C

O
N

F
IG

U
R

A
T

IO
N

C
A

B
IN

E
T

 S
ID

E
 C

A
N

 B
E

 C
U

T
 O

P
E

N
 

F
O

R
 A

C
C

E
S

S
 T

O
 S

T
O

R
A

G
E

 A
R

E
A

A
W

JR
 L

G
 C

A
B

IN
E

T
 C

O
N

F
IG

U
R

A
T

IO
N

S

1
6-

1/
2i

n 
T

O
 2

0-
1/

2i
n 

T
H

IC
K

 W
A

LL

11
3

16

T
H

IC
K

 W
A

LL
 K

IT
 P

.N
. 1

2
03

60
21

 R
E

C
O

M
M

E
N

D
E

D

 



 4

O
P

T
IO

N
 1

 -
 N

O
T

 R
E

C
O

M
M

E
N

E
D

E
D

V
E

R
Y

 L
IT

T
LE

 S
U

P
P

O
R

T
 F

O
R

 S
ID

E
 C

A
B

IN
E

T
O

P
T

IO
N

 2
R

E
C

O
M

M
E

N
D

E
D

10
33

4

12
5

8

8
4

22
1

2

4"
(A

L
L 

C
O

N
D

U
IT

S
 A

N
D

O
T

H
E

R
 D

E
V

IC
E

S
 M

U
S

T
 F

IT
IN

S
ID

E
 O

F
 T

H
IS

 A
R

E
A

)

4"
(A

LL
 C

O
N

D
U

IT
S

 A
N

D
O

T
H

E
R

 D
E

V
IC

E
S

 M
U

S
T

 F
IT

IN
S

ID
E

 O
F

 T
H

IS
 A

R
E

A
)

22

S
T

A
N

D
A

R
D

 1
4"

 W
A

LL
 

C
O

N
F

IG
U

R
A

T
IO

N

C
A

B
IN

E
T

 S
ID

E
 C

A
N

 B
E

 C
U

T
 O

P
E

N
 

F
O

R
 A

C
C

E
S

S
 T

O
 S

T
O

R
A

G
E

 A
R

E
A

A
W

JR
 L

G
 C

A
B

IN
E

T
 C

O
N

F
IG

U
R

A
T

IO
N

S

20
-1

/2
 T

O
 2

2-
1/

2 
T

H
IC

K
 W

A
LL

14
3

1
6

T
H

IC
K

 W
A

L
L 

K
IT

 P
.N

. 
12

03
60

23
 R

E
C

O
M

M
E

N
D

E
D

 



 5

O
P

T
IO

N
 1

 -
 N

O
T

 R
E

C
O

M
M

E
N

E
D

E
D

V
E

R
Y

 L
IT

T
L

E
 S

U
P

P
O

R
T

 F
O

R
 S

ID
E

 C
A

B
IN

E
T

O
P

T
IO

N
 2

R
E

C
O

M
M

E
N

D
E

D

1
03

3
4

1
25

8

8
4

2
21

2

3
"

(A
L

L
 C

O
N

D
U

IT
S

 A
N

D
O

T
H

E
R

 D
E

V
IC

E
S

 M
U

S
T

 F
IT

IN
S

ID
E

 O
F

 T
H

IS
 A

R
E

A
)

3"
(A

LL
 C

O
N

D
U

IT
S

 A
N

D
O

T
H

E
R

 D
E

V
IC

E
S

 M
U

S
T

 F
IT

IN
S

ID
E

 O
F

 T
H

IS
 A

R
E

A
)

23
1

4

S
T

A
N

D
A

R
D

 1
4

" 
W

A
LL

 
C

O
N

F
IG

U
R

A
T

IO
N

A
W

JR
 L

G
 C

A
B

IN
E

T
 C

O
N

F
IG

U
R

A
T

IO
N

S

2
2

-1
/2

 T
O

 2
3-

1
/2

 T
H

IC
K

 W
A

L
L

4

23
1

4

C
A

B
IN

E
T

 S
ID

E
 C

A
N

 B
E

 C
U

T
 O

P
E

N
 

F
O

R
 A

C
C

E
S

S
 T

O
 S

T
O

R
A

G
E

 A
R

E
A

1
57

1
6

T
H

IC
K

 W
A

L
L 

K
IT

 P
.N

. 1
20

36
02

6
 R

E
C

O
M

M
E

N
D

E
D

 



 6

O
P

T
IO

N
 1

 -
 N

O
T

 R
E

C
O

M
M

E
N

E
D

E
D

V
E

R
Y

 L
IT

T
L

E
 S

U
P

P
O

R
T

 F
O

R
 S

ID
E

 C
A

B
IN

E
T

O
P

T
IO

N
 2

R
E

C
O

M
M

E
N

D
E

D

10
33

4

12
5

8

84

22
1

2

11
4"

(A
L

L 
C

O
N

D
U

IT
S

 A
N

D
O

T
H

E
R

 D
E

V
IC

E
S

 M
U

S
T

 F
IT

IN
S

ID
E

 O
F

 T
H

IS
 A

R
E

A
)

11
4"

(A
L

L 
C

O
N

D
U

IT
S

 A
N

D
O

T
H

E
R

 D
E

V
IC

E
S

 M
U

S
T

 F
IT

IN
S

ID
E

 O
F

 T
H

IS
 A

R
E

A
)

25

S
T

A
N

D
A

R
D

 1
4"

 W
A

LL
 

C
O

N
F

IG
U

R
A

T
IO

N

A
W

JR
 L

G
 C

A
B

IN
E

T
 C

O
N

F
IG

U
R

A
T

IO
N

S

2
3

-1
/2

 T
O

 2
5 

T
H

IC
K

 W
A

LL

23
8

25

C
A

B
IN

E
T

 S
ID

E
 C

A
N

 B
E

 C
U

T
 O

P
E

N
 

F
O

R
 A

C
C

E
S

S
 T

O
 S

T
O

R
A

G
E

 A
R

E
A

43
8

17
1

8

T
H

IC
K

 W
A

L
L 

K
IT

 P
.N

. 
1

2
0

36
0

3
1 

R
E

C
O

M
M

E
N

D
E

D



 


